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RATIO (\VUIKr)

(CLASSROOM SHEET-1)

J

If ratio of boys and girls is 5:8 and the
total strength of the class is 156. Find the
number of girls in the class.

;fn yMdk vkj yMid;k dk vuikr 5%8 g rfkk
d{k dnh dy {kerk 156 g] rk d{ik e ymid;k dh
I[;k Kkr djh

(a) 96 (b) 60

(c) 72 (d) 80

A sum of ¥ 2002 is divided among A, B and
C in the ratio 3 : 4 : 6. Find the share of B
in that?

%2002 #1; dh jki'k dk 3%4%6 d wvuikr e A,
B Vkj ¢ d chp foHkftr fd;k tkrk gh ble B
dk fgL 0k Kkr dhft,A

(a) T616 (b) T610

(c) T462 (d) T1510

If a: b=3:2, then find (Sa + 2b) : (3a + 4b).
;fNa+b=3:2 Q] rk(5a+ 2b): (3a + 4b)
cjkcj gk

SSC CGL 10 June 2029
(a) 16:15 (b) 8:7
(c) 19:17 (d) 17:14

If a: b=2: 3, then find (Sa+ 3b) : (6a - 2b)
;fNa:b=2:3 9]k (5a+,8b).: (6a - 2b)
dk eku Kkr djh

SSC CGL 12 June 2029
(a) 19:6 (b) 3:2
(c) 17:5 (d) 10:7

If (5x + 2y) : (10x + 3y) = 5 : 9, then
(2x2 + 3?) : (4x% +9y?) = ?

;fn (5x + 2y) : (10x + 3y) = 5:9 (] rk (222
+ 337) : (4x% + 9y?) = ?

SSC CGL Tier II 2018
(a) 31:87 (b) 10:27
(c) 16:47 (d) 1:3

If a:b=2:3 and b:c=4:5, then find
a:b:c.

fMa:p=2:3Vijb:c=4:5(| rla:b:c
dk eku Kkr djh

(a) 8:11:15
(b) 8:12:15
(c) 16:24:25
(d) 5:6:8

Ifa:b=5:8andc:b=4:3.Thena:b:c
is equal to :
iMa:b=5:8Vijec:b=4:3Q] ka:b:c
cjkcj g %

SSC CGL 11 June 2019 (Morning)

(a) 15:24:28

(b) 5:6:8

(c) 15:24:32

(d) 5:8:6

¢ 3 5 3 2 h b
I P.Q—5-7,Q.R—4-5 then what

is P: Q : R is equal to?

inpios 2% 0.re 22 an
,nP.Q—5-7,Q.R—4-5 gl rk P:
Q:Rcjkcj g
9 15 2
@ 20'28'7
10 5 12
® s tirs
3. 1.2
© 2 777
(d) 2:3:5
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10.

11.

12.

13.

If 3x = S5y = 4z then x: y: z is equal to: 14.

;fn 8x=5y=4zQ] rk x:y: zcjkcj g ¥

(a) 9:12:16

(b) 15:10:9

(c) 20:12:15

(d 8:5:3
A sum of Rs x is divided among A, B and
C such that the ratio of shares of A and B
is 7:12 and that of B and C is 8 : 5. If the

difference in the share of A and C is Rs
214, then the value of x is.

x #i; di ji'k dk A, B vij ¢ e bl idij
foHkftr fd;k thkrk g fd A vkj B d “k;jk dk
vuikr 7 % 12 g vkj B vkj € d "k;Jk dk vuikr
84h 50t ;fn A vkj ¢ d fgll dk vrj 214
#i; g] rk x dieY; g ¥

(a) ¥ 11556 (b) ¥11128

(c) 11770 (d) ¥11342
Three numbers are in the ratio of
1 2 3
— i —:i— ., The difference between the
2 3 4
greatest and the smallest number is 27.
The smallest numbers is :

1 2 3 .
riu Ik, —:—:— d wvutkr.e g rk Icl
2 3 4
cMh vk Icl Nkvh Bk d chp dk vrj 27 gh

Icl Nkvh Ik g & 17.

SSC CGL Tier I 2018
(a) 81 (b) 40
(c) 72 (d) 54
Ifx:y=3:1then X*-g:x°+ y?=7?
Mx:y=3:10] rkx=-gext+yt=2?
(a) 13: 14 (b) 14:13
(c) 10: 11 (d) 11:10

(P+Q7:(Q+R): (R+Py? 18.

Nk(P+Q?2:(Q+R)?:(R+P)??
(a) 49:25:36 (b) 14:12:5
(c) 12:9:6 (d) 49:36:25

15.

16.

If A:B=4:5and B: C=6:7, then find
(A+B):(B+C):(C+A).
;NA:B=4:5Vi(fB:C=6:7(] rk (A + B)
:(B+C):(C+A)dk eku D;k g\

(a) 9:13:11 (b) 54:65:59

(c) 54:59:65 (d) 11:9:13

If (a+b):(b+tc):(cta)=7:6:5and a+
b+ c =27, then what will be the value of

1 1 1

9

a b c

M@+b):(b+:(c+a)=7:6:5 Vij
kl‘l‘1 dkelu D;k g\

a+b+c=27q]r o'y o diew D;kg

SSC CGL Tier II 2018

(a) 3:6:4 (b)3:2:4

(c) 4:3:6 (d) 3:4:2

. 4 1.1 1 h a b c .

I H =7:7:7’t — i — ¢ — =%

4 ¢ 4 3 2 enb c a

¢ A 1 1 1 ka b c

N a:t = —:—:— k—:—:— =9

e ““ 473 2 q] b ¢ a
SSC CGL Tier II 2019

(a) 12:9:8 (b) 8:9:24

(c) 9:8:24 (d) 9:12:8

3 2 4 1
If _G= _H= —1I= —J then what is the
8 9 5 6

ratio of J, H, I and G respectively?

3 2 4 1 .
;fn —G=_—H=_—1=—-J¢] rkJ, H, IVkj
8 9 5 6

G dk vuikr @e" D;k g\

(a) 72:54:15:38

(b) 72:32:15:54

(c) 72:54:15:32

(d) 72:15:54:32
Ifa:bp=5:7andc:d=8:11Find b:c
Ma:b=5:7Vljc:d=8:11 grkb:c
dk eku Kkr djh

(a) 16:15

(b) 15:16

(c) 12:17

(d) Can't be determined
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19.

20.

21.

22.

The ratio of the sum of the salaries of A
and B to the difference of their salaries is
11:1. The ratio of the sum of the salaries
of B and C to the difference of their salaries
is also 11 : 1. If A’s salary is the highest

and C’s is the lowest then what is B’s 23

salary (in ), given that the total of their
salaries is ¥ 18200 ?

A vij Bdorud ;kx dk mud oru d vrj 1
wvuikr 11%1 gt B vkj ¢ d oru d ;kx dk
mud oru d rj I wvuikr Hh 11%1 gh ;fn A dk
oru Icl vi/d g vkj c dk Icl de ¢g] rk B
dk oru (R e) fdruk g] ;g n[kr g, fd mudk
dy oru ¥ 18]200 g\

SSC CGL MTS 20187 %

(a) 8,500 (b) 5,500

(c) 6,000 (d) 7,200
The employees of three categories A, B and
C get their wages in the ratioof 1 : 2 : 3.
If they get increments of 5%, 10% and 15%
respectively , then what will be the new
ratio of their wages?
riu Jf.k;k A, B vij ¢ d depkfjzk dkemudk
oru 1%2%3 d wuikr e feyrk gt ;fn mlg @e*k

5»] 10» wvikj 15» dh of% feyrh g] rk mud oru 25.

dk uzk vuikr Dk gkxk\
SSC CGL MTS 2018

(a) 21:44:69 (b) 7:22:23
(c) 21:22:23 (d) 7:21:23
If a:b = 2:3, b:c = 4:5 and

c:d=6:7.Finda:b:c:d.
;fNa:pb=2:3,b:c=4:5Vjec:d=6:7
gl rk a: b:c:ddk eku Kkr difte, A

(a) 16:24:30:31(b) 16:24:30: 35
(c) 72:54:15:32(d) 8:32:50:71

2 1 2 5 26.
Ifa: b= -: ,b:c=—: — andd:c

9 3 7 14
7 3
=E=g,thenFinda:b:c:d.

2 1 2 5 .
MMa:b=—: —,b:c=—-: — Vljd:c
9 3 7 14
LA ka:b d dk eku Kkr djA

= - a:b:c: r
o 5g] a c eku J

(a) 16:24 :30:31

(b) 16 :24 :30: 35

(c) 72 : 54 : 15 : 32

(d) 8:32:50:71

Ifa: b=5:8,b:c=12:13 and c:d-=
16 : 15, then find the valueof a: b: c: d.
Ma:p=5:8,b:c=12:13Vljc:d=
16 :15Q] rka: b: c: ddk eku Kkr djh

(a) 116: 124 :130: 131

(b) 116 : 124 : 130 : 135

(c) 172 : 154 : 115 : 132

(d) 120 : 192 : 208 : 195

If x: y=6:5,y:2z=9:4 and
z: w=2:3, then what is the value of
X:z:w?

ifin x: y=6:5,y:rz=9:4 V]
z:w=2:30] rkx: z: w dkeku D;k g\
(a) 6:2:3

(b) 27 : 10 : 15

(c) 7:6:9

(d) 9:4:6

A sum of Rs. 31866 is divided between A,
B and C such that the ratio of shares of A
and Bis 9 : 8 and that of A and Cis 4 : 5.

The share (in Rs.) of B is:

A, B V] cd cip 31] 866 #i; dh jkf*k dk bl
idkj foHkfer fd;k x;k g fd A vkj B d Hikkxk
dk vuikr 9% 8 vkj A vkj c d Hikxk dk vuikr
4% 5 gh BHkx (-- e) Kkr djh

SSC CGL 2020
(a) 9024 (b) 8460
(c) 10152 (d) 12690

A sum of Rs 6342 is divided amongst A,
B, C and D in the ratio 3 : 4 : 8 : 6. What
is the different between the shares of B and
D?
A, B, C vkj D d chp 6342 #i; dh jk"k dk 3
h4%8%6 vuikr e forfjr fd;k x;k gh B vikj
D d fgLllk d chp (- €) vrj Kkr djA

SSC CGL 2020
(b) Rs 906
(d) Rs 1510

(a) Rs 302
(c) Rs 604

[31
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27.

28.

29.

30.

A sum is divided among A, B, C and D such
that the ratio of shares of Aand Bis2: 3,
that of B and Cis 1 : 2 and that of C and
D is 3 : 4. If the difference in the share of
A and D is T 648, then the sum of their
shares is :

,d jkf'k dk A, B, ¢ vkj D e bl idkj foHkftr
fd;k tirk g fd A vij B d “k;jk dk vuikr
2%3 g] B vkj € dk vuikr 1%2 g vkj € Vvij
D dk vuikr 3%4 gh ;fn A vij D d fgLl dk
Vvrj 3648 g] rk mud “k;jk dk ;kx g ¥

SSC CGL Tier II 2018
(a) ¥ 2,052 (b) 2,160
(c) T 2,484 (d) T 1,944

A certain sum is divided among A, B, C and
D such that the ratio of the sharesis A: B
:C:D=4:12:30: 45. If the difference
between the shares of A and D is Rs 5,535,
then the total sum (in Rs ) is:
A, B, C Vi D d cip fdlh fuf'pr ji*k dk bl
idkj foHkfer fd;k x;k g fd Héxk dk vuikr A
:B:C:D=4:12:30:450k ;fn AVl D
d Hixk d cip vrj 5535 #i; g] rk dy ji'k
(: e) Kkr djh

SSC CGL 2020
(b) 11000

(d) 13550

(a) 12285
(c) 12785

IfA:B=1:2,B:C=3:4,C:D=2:3
and D : E = 3 : 4, then what is B : E equal
to?

fnA:B=1:2,B:C=3:4,C:D=2:3
VifD:E=3:4¢] rkB :E fdld cjkcj g\

(a) 3:2 (b) 1:8
(c) 3:8 (d) 4:1
a ¢ e
If . %, then find the value of

2a’ - 3¢® + 4€°
2b* -3d* +4f*°

1 2a’ - 3c” + 4€” al
9l r 2b° -3d* +4f

eku Kkr dift,

31.

32.

33.

34.

35.

36.

(a) 3:8 (b) 4:9

(c) 2:5 (d) 1:6
Ifp:gq=r:s=t:u=2:3then (mp+ nr
tot):(mg+ns+ou)=?
Mp:g=r:s=t:u=2:3¢g] rk (mp +
nr+ ot) : (mg+ ns + ou) = ?

(a) 3:2 (b) 2:3

(c) 1:3 (d) 1:2
Ifa:b=c:d=e:f=1:2, then (pa + qc
tre):(pb+qd+rf)is
Ma:b=c:d=e:f=1:2,¢] rk (pa +
qgc+re):(pb+qd+rf)="2?

(a) 1:2 (b) 4:3

(c) 2:1 (d) 1:1

If a:(b+c)=5:7, b:(cta)=T7:09,
then find c: (a + b).
Ma:(b+c)=5:7, bi(c+a)=7:9(]
rk c: (a + b) dk eku Kkr djh

(a) 4:41

(b) 20 :41

(c) 21:41

(d) 7:41
Ifa:(b+c)=1:3,c:(a+b)=5:7, then
find b: (a+ c).

;M a:(b+c)=1:3,c:(a+b)=5:7(]
rib : (a+ o) dk eku Kkr djh

(@) 1:2

(b) 2:5

(c) 1:3

(d) 3:4

If @a+b+c¢):d=17:3 ,(a+c+d): b
=3:1,(a+b+d): c=3: 2, then find
(b+c+d): a
fM(a+b+c):d=17:3,(a+c+d): b=3:
l,(a+b+d):c=3:2(0] rk(b+c+d):a
dk et Kir djh

(@) 1:2

(b) 2:5

(c) 3:1

(d) 4:1
Ifxy:yz:2zx=3:4:5,thenx®: y?:22=7?
N xy:yz:z2x=3:4:50] rkx®: y?: 22 dk
eku Kkr djh
(a) 225:
(b) 255:
(c) 215:
(d) 225:

144 :
134 :
144 :
144 :

400
300
400
300

[4]
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37.

38.

If (5x°> - 3y?) : xy = 11 : 2, then the positive

X
value of — is:

X
A ;fn (5x2-3y?) : xy=11:2¢] rk v dk

fuded eku g &
(a) 5:2 (b) 3:2

(c) 5:3 (d 7:2
fx*-y):(x*+xy+y*)=5:1 and
(X* -9y ):(x-y)=1T7:1, then the ratio
2x: 3y equals

MM (- ): (¥ +xy+y)=5:1 Vi
(-y?*):(x-y) =7:10] rk 2x: 3y dk elu
Kir dij
(a) 4:1
(c) 2:3

(b) 3:2
(d) 4:3

QuEesTioNs BaseDp oN Coins

39.

40.

41.

In one bag 50 paisa, 25 paisa and 1 rupee
coins are in the ratio of 5: 8 : 1. If the total
cost of all the coins is ¥ 55 then how many
coins of 25 paisa are in the bag ?

,d cx e 50 il] 25 il vk 1 #i;/d fibd
568%1 d wvuikr e gh ;fn AHh f1Ddk dh dy
dher 55 g] rkcx e 25 i I d-fdru fIDd g\

(a) 25 (b) 10

(c) 50 (d) 80
In a bag, the ratio of the number of¥2,% 1
and 50 paise coins is 3:4:5. If the total

amount in the bag is Rs 250, then how
many ¥ 1 coins are there ?

,dcxe32]T1 vk 5001 d fIdDd dh I[;k
dk vuikr 354%5 gh 5t ;fn cx e dy jkf'k
¥250 g] rk'ex eX1 d fdru fIDd g\

SSC CGL MTS 2018
(a) 70 (b) 100
(c) 60 (d) 80

A man has few coins of ¥ 1 rupee, 50 p and

1 1 1

25 p in the ratio —: —: — . If the number

2 3’
of 50p coins is 96. Find the total amount
of coins?

42,

43.

,d vineh d 1kl 1] 50 1l vk 25 1l d

1 1 1
2 3 4
d fIDdk dh I[;k 96 g rk fIDdk di dy Kk
Kir dij

(a) 312

(b) 220

(c) 210

(d) 260
Atul purchased Bread costing Rs 20 and
gave a 100 rupee note to the shopkeeper
gave the balance gave the balance money
in coins of denomination Rs 2, Rs 5 and

Rs 10. If these coins are in the ratio 5:4:1,
then how many Rs § coins did the

vuikr e dN fIDd g ;fn 50 il

shopkeeper give?

vry-20 #i; @3 eY;.okyk cM [kjhnrk g wvkj
ndkunkj dk 100 Z1i; dk ukv nrk gh ndkunkj 2
#1;] & #1; vij 10 #i; eY; ox d fIDdk e
K% Zucnrkgh ;fn bu fIDk dk vuikr 5% 4 %
1 9] rk ndkunkj 5 #i; d fdru fIDd nrk g\

(a) 5
(b) 6
(c) 8
(d) 4

Hridaya opened her piggy bank and found
coins of denomination Rs. 1, Rs. 2 and Rs.
10 in the ratio 10 : 5 : 2 : 1. If there are
72 coins in all, then how much money (in
Rs.) was there in the piggy bank in the

form of coins?

an;] viuk xYyd [krk g vkj ml 1 #1;] 2 #i;]

5 #1; vk 10 #1; eY;ox d fIDD 10 %4 5 % 2

1 d wuikr e feyh ;fn dy 72 fIDA F] rk

fIDdk d -1 e xYyd e jkf'k (- e) Kkr djh
SSC CGL 2020

(a) 160

(b) 90

(c) 72

(d) 100

[S]
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QuEsTIONS BASED ON ADDITION

OR SUBTRACTION

44. Two numbers are in the ratio 3:4. On
increasing each of them by 30, the ratio
becomes 9:10. The numbers are.
nk I[;k, 3% 4 d wvuikr e gh mue 1 1f;d dk
30 I c<ku ij vuikr 9% 10 gk thrk gh B[k, gh

SSC CHSL 2018
(a) 30, 40 (b) 15,20
(c) 12, 16 (d) 18,24

45. The ratio of two numbers A and Bis 5 : 8.
If 5 is added to each of A and B, then the
ratio of A and B becomes 2 : 3. The sum

of A and B is:

A Vvkj B nk I[;kvk dk vuikr 5% 8 gh ;fn A
vij Be I if;d e 5 Mk thrk g] rk A vk B
dk vuikr 2 % 3 gk thrk gh A vkj B dk ;kxily

Kkr dijh

SSC CGL 2020
(a) 42 (b) 78
(c) 65 (d) 91

46. The ratio of two numbers A and Bis 5: 8.
If 5 is added to each of A and B, then the
ratio becomes 2 : 3. The difference in A
and B is:
nk I[;kvk A vkj B dkwvurkr 5% 8 gt ;fn A
vij B, 1f;d e 5 thMk &krk g] rk wvuikr 2 % 3
gk thrk gt A vkj B e vrj Kir dj

(a) 15 (b) 12
(c) 10 (d) 20

47. Two numbers are in the ratio 7:5. On
diminishing each of them by 40, the ratio
becomes 27 : 17. The sum of the numbers is :
nk BI[;k, 7%5 d vuikr e gh mue 1 iR;d dk
40 1 de dju 1j wvuikr 27 %17 gk thrk g B[ ;kvk

dk ;kx gk
(a) 300
(b) 240
(c) 325
(d) 275

48.

49.

50.

51.

Two numbers A and B are in the ratio 5 :
2 . If 4 is added to each number then the
ratio becomes 9 : 4. If 5 is subtracted from
each of the original numbers, then the
ratio of A and B will be:
nk I[;k, A vkif B 542 d wvuikr e gh ;fn
if;d I[;ke 4 tM fn;k &, rk vuikr 9%4 gk
thrk gh ;fn 1R;d ey I[;ke 1 5 %k fnjk t,
rk A vij B dk vuikr gkxk b
SSC CHSL 2018

(a) 3:1 (b) 8:3

(c) 7:2 (d) 4:1
The numbers are in the ratio 2 : 3. If 5 is
subtracted from the first number and six
is added to the second number, then the
ratio becomes 5 : 12. What would the ratio

become when eight is added to each
number?

nk B kvk dk vuikr 243 gh s fnoagyn Ik DS
Wisktkrk g vignljoA[zk e Ng €Mk thrk g]
rk vuikr 5 % 12 gk tk,xkd tc ik;d I[;k e
VB thMk &k, xk rk vuikr fdruk gkxk\

SSC CGL 2020
(a) 14 : 11
(b) 14: 19
(c) 11: 14
(d) 19: 14
Two numbers are in the ratio
3:5. If 13 is subtracted from each, the new
numbers are in the ratio 10:21. If 5 is

added to each of the original numbers ,
then the ratio becomes:

nk I[;k, 3%5 d wvuikr e gh ;fn ik;d e |
13 %Vk;k tkrk g] rk ub B[k, 10%21 d wuikr
e gkrh gh ;fn iR;d ey I[;ked 5 tM fn;k
t, rk vuikr gk thrk g %

(@) 5:7
(b) 23:33
(c) 4:5
(d) 19:30

The ratio in the number of students in
three classes is 3 : 4 : 5. If 20 students are
increased in every class, then this ratio
becomes 4:5:6. What was the original
number of students in these classes taken
together ?

[6]
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riu d{kkvk e Nk dh B[k dk vuikr 3%4%5
gh ;fniRk;d d{lk e 20 fo]kFkh c<k fn, tk, rk
;0 Vuikr 4%5%6 gk thrk gt bu d{lkvk e dy
feykdj fo]kfF;k dh ey B[;k fdruh R\

SSC MTS 2018
(b) 240
(d) 300

(a) 280
(c) 320

INcOME & EXPENDITURE

BASED QUESTIONS

52. The ratio of monthly incomes of Ram and
Rahim is 4:3 and the ratio of their
monthly expendi-tures is 3:2. If each
saves ¥ 5000 per month, then what is the
respective monthly incomes of Ram and
Rahim?
jke vkj jghe dh ekfld wvk; dk vuikr 4%3 wvij
mud ekfld [kp dk wvuikr 3%2 gh ;fn if;d
T 5]000 ifr ekg cpkrk g] rk jke vkj johe dh
Icf/r elfld vk; D;k g\

SSC MTS 2018
(a) ¥ 12,000, 9,000
(b) ¥ 10,000, 7,500
(c) ¥ 16,000, 12,000
(d) ¥ 20,000, 15,000
53. The ratio of monthly incomes of Pawan and
Sunil is 4 : 3 and the ratio of their monthly
expendi-tures is 3 : 2. If Pawan and
Sunil save ¥ 4000 and ¥ 6000 respectively
per month, then what is the sum of their
monthly incomes ?
tou vkj luhy dh ekfld wvk; dkwvulkr 443 g
vkj mud ekfld 0; 3 dkovuike 342 gh ;fn Tou
vkj luty ifr elg de*h 4000 #1; vk ¥ 6000
cpkr g] rk mudh ekfld wk; dk ;kx g\
SSC MTS 2018
(a) ¥ 60,000
(b) ¥ 70,000
(c) ¥ 50,000
(d) ¥ 36,000

54. The ratio of monthly incomes of A and B
is 4 : 5 and that of their monthly
expenditure is 3 : 8. If the income of A is
equal to the expenditure of B, then what
is the ratio of savings of A and B?

55.

56.

57.

A vij B dh efld wvk; dk vuikr 4% g wvij
mud ekfld 0;; dk vuikr 3 % 8 gi ;fn A dh
vk; B d 0;; d cjkcj g] rk A vkj B dh cpr
dk vuikr D;k g\

(a) 8:3 (b) 2:5
(c) 5:2 (d) 3:8

The ratio of incomes of A and Bis 2: 3 and
that of their expenditure is 1 : 2. If 90% of
B’s expenditure is equal to the income of
A, then what is the ratio of the savings of
A and B?

A vk B dh vk; dk wvuikr 2%3 g vk mud
0;; dkwvuikr 1%2 gh ;fn B.d'0;; dk 90» A
dh vk; d cjkcj g] rk A vij. B dh cpr dk vuikr
D;k g\
SSC CHSL 2019
(a) 1:1
(b) 9:8
(c) 8:7
(d) 3:2
The ratio of the income of A to that of B

is 5:7. A and B save ¥ 4000 and ¥ 5000
respectively. If the expenditure of A is

2
equal to 66 3 % of the expenditure of B ,

then the total income of A and B is:

A Vvkj B dh vk; dk vuikr 5% 7 g A vij B
@e"kh 4000 #i; vkj I 5000 cpkr gh ;fn A dk

2
0;;1 B d 66 %035 d cjicj g] rk A vij

B dhdy vk; gk

(a) ¥ 25,200

(b) ¥ 24,000

(c) ¥ 26,400

(d) ¥ 28,800
The income of A and B are in the ratio 5: 3.
The expenses of A, B and C are in the ratio
8 : 5: 2. If C spends ¥ 2000 and B saves ¥
700, then A saves.
A vij B dh vk; 543 d vuikr e gh A, B Vij
c dk 0;; 8%W5%2 d wuikr e gh ;fn c,
%2000 [kp djrk g vkj B, T 700 cpkrk g] rk
A dh cpr D;k gkxin\
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58.

59.

60.

(a) ¥ 1500

(b) ¥ 1000

(c) ¥ 500

(d) X250

Last year, the ratio between the salaries
of A and B was 3 : 4. But the ratios of
their individual salaries between last year
and this year were 4 : 5 and 2 : 3 respec-
tively. If the sum of their present sala-
ries is Rs. 4160, then how much is the
salary of A now ?

fiNy 0% A vkj B d oru dk vuikr 34 Fid
yfdu fiNy o'k vkj bl o'% d chp mud 0;flkxr
oru dk vuikr @e"kh 445 vkj 243 Fi4 ;fn mud
oreku oru dk ;kx # 4160] rk vc A dk oru
fdruk g\

SSC CGL Tier II 2018
(a) T 1040 (b) ¥ 1600
(c) T 2500 (d) 3120

The ratio of income of A and B last year
was 4 : 3 respectively. The ratios of their
individual incomes of the last year and
the present year are 3:4 and 5:6, re-
spectively. If their total income for the
present year is ¥ 8.04 lakh. Then the in-
come of B last year was.

fiNy o'k A vk B dh vk; dk vuikr @e't 4
h 3 Fkt fiNy o'k wvkj oreku ok dh mudh
0;fDrxr vk; dk vuikr @eh 3%4 vkj 5%6
gh ;fn oreku o' d fy, mudh dy wk; ¥ 8-
04 yk[k g] rk fiNy o'k B dy wvk; Fih %

SSC CGL Tier II 2018
(a) T 0.27 lakh (b) % 0.36 lakh
(c) ¥0.24 lakh (d) T 0.28lakh

The ratio of the income of A and B in the
last year was 4:3 . The ratio of their
incomes in the last year and the present
year are 3:4 and 5:6 respectively. If their
total income in the present year is Rs
24.12 lakhs then the sum of the income
(in Rs lakhs) of A in the last year and that
of B in the present year is :

fiNy o'k A vij B dh vk; dk vuikr 443 Fid
fiNy 0% vkj oreku o'k e mudh vk; dk vuikr
@e'fh 344 vkj 546 gh ;fn oreku o'k e mudh
dy vk; 24-12 yk= #i; g] rk fiNy o'k e A
dh vk; (yk= #1; e) Vvij oretu 0%k e B dh
vk; dk skx gh

61.

62.

SSC CGL Tier II 2018

(a) 10.98 (b) 22.17
(c) 20.52 (d) 21.28

The ratio of last year income of A, B and C
is 3 : 4 : 5. While the ratio of their last year
income to current year income is4:5,2:3
and 3 : 4. If their total current year income
is ¥ 98,500, then find out the present income
of (B + C).

A, B vij ¢ dh fiNy o'k dh vk; dk vuikr 3%4%5
g] tcfd mudh fiNy o'k dh vk; dk oreku o'k dh
vk; 1 wvuikr @e™ 44%5] 243 wvij 3%4 gh ;fn

mudh  orefu 0"k dh dy  vk;
T 98]500 g rk (B + ) dh oreku vk; Kkr djh

(a) ¥ 72000 (b) % 74000

(c) ¥ 76000 (d) ¥ 78000

A , B and C spend 80% , 85% and 75% of
their income respectively. If their savings are
in the ratio 8 : 9 : 20 and the difference
between the incomes of A and C is
¥ 18000, then the income of B is:

A, B Vkj € viuh vk; dk @e’kh 80»] 85» wij
75» [kp djr gh ;fn mudh cpr 8%9%20 d wvuikr
e g vk Awvijcd vk; dchp dk vrj %
18]000 g] rk B dh vk; g ¥

SSC CGL TIER II 2018
(b) ¥ 27000

(d) T 36000

(a) T 24000
(c) T 30000

MiscCELLANEOUS QUESTIONS

63.

64.

If(x-2y+82):(y—3z+4w): (4x+ 5z- 7Tw) =
6x + -17
x+2y w=?

3:4:7 then find
w

;N(x-2y+82): (y-3z+4w): (4x+ 5z- Tw) =
6x +2y - 17w

3:4:7¢] rk w =7?
(@) 5 (b) 6
(c) 7 (d) 8

In a colored picture of Red and green color,
red and green color is used in the ratio 2:3
respectively. If in the uppper half, green : red
is 5: 4, then in the lower half red : green is :

yky Vkj gj jx dh ,d jxhu rLohj e] yky vkj gj
Jx dk mizkx @e'kh 243 d wvuikr e fd;k thrk g
;fn Adjh viék e gjk b yky 5%4 g] rk fupy vi/
e yky b gjk dk vuikr g %

8]
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65.

66.

67.

(a) 22:23 (b) 11:34

(c) 10:7 (d) 16:29
On the whole surface of earth the ratio of
land and water is 3 : 5. The land and water
in northern hemisphere is 7 : 9. Then what
is the ratio of land and water in southern
hemisphere?
iFoh dh 1jh Irg 1j Hfe wvij ty dk vuikr 345
oh mikjh xkykv e Hde vAj ikun 759 gh fillj nf{k.k
xkyk/a e Hkfe wkj ikuh dk vuikr D;k g\

(a) 6:7

(b) 5:11

(c) 9:2

(d) 3:2
On the wohle surface of earth the raio of
land and water is 1 : 2. The ratio of land
and water in northern hemisphere is 2 : 7.
In half of the regions of southern
hemisphere the ratio of land and water is
3:2, then find the ratio of water : land on
the other half of the southern hemisphere.
iFoh dh ijh Irg 1j Hfe wvij ty dk vuikr 142
gh mlkjh xkykvs e Hfe vij ikun dk Vuiken2 47
gh nf{k.kh xkyk¥a d {kkk d vk/ fgll e Hfe wij
tkuh dk vuikr 3%2 g rk "K'k vk/ ni{k.kh XkykYa
d vi/ fgLl e ikuh vikj Hife dkwvurke Kkr dji

(a) 32:13 (b) 22:13

(c) 13:32 (d) 28:13
A sum of ¥ 15525 is divided among Sunil,
Anil and Jameel such that it ¥ 22, T 35 and
¥ 48 be diminished from their shares
respectively, their remaining sums shall be
in the ratio 7 : 10 : 13. What would have
been the ratio of their sums if ¥ 16, ¥ 77

and ¥ 37 respectively were added to their
original shares.

T 15525 dh jki*k dk Buty] vfuy vk tety d
chp ckVk x3kgh vxj-® 22] T 35 Vikj T 48 Dek
mud “k;jk I de &gk tkr g] rk mudh "K'k jde
7%10%13 d wvutkr e gxih ;fn mud ey “k;jk
e Pe'lh T16] 77 vkj 37 tiM fn, tk; rk
mudk ikir jki*k dk vuikr D;k ghxk\

(a) 9:13:17

(b) 18 :26: 35

(c) 36:52:67

(d) 32:53:71

68.

69.

70.

71.

A gold broken into three parts, the ratio
of weight of three parts is 3:4:5. The
price of gold is directly proportional to its
square weight. if there is loss of ¥ 23,500
after breaking gold then what was the
starting price of gold?
,d lkuk rhu fgll e VW x;K bu rhuk fgLl d
otu dk wvuikr 3%4%5 gt lku dh dher bld
otu d ox d wvu@ekuikrh gh ;fn ; Dkuk VVu
1j ¥23]500 dk uelku gvk rk Tku dh ey dher
Dk Fii\

SSC CGL 6 JUNE 2019 (Morning)

(a) ¥ 30,000 (b) ¥ 36,000
(c) ¥ 40,000 (d) ¥46,000

The Price of a semi-precious stone
weighing 48 g, is Rs 2,30,400. It is broken
into two pieces whose weights are in the
ration of 5 : 7. If the price is proportional
to the square of the weight, then the loss
(in Rs) incurred, is:
48 xke otusoky ,d v¥ dherh ifFj dn dher
2]30]400 #i; oh bl nk VAMk e foHkfer fd;k
X;k g] feudk otu 5% 7 d wuikr e gh ;fn
dier otu d ox d lekuikrh g] rk gb gkfu

(#i; e) ot

SSC CGL MTS 2020
(a) 102000 (b) 40000
(c) 118400 (d) 78400

A fox chases a lion. The fox takes 7 leaps
for every 5 leaps of the lion and the
distance covered by lion in 6 leaps is equal
to the distance covered by fox in 5 leaps.
Find the ratio of their speeds?

,d ykeMr "kj dk itNk djrk gh "kj ferui nj e 5
Nykx yxkrk g] ykeMh mruh nj e 7 Nykx yxkrk
gt "kj ik 6 Nykx e r; dh xb njh ykeMr Hjk 5
Nykx e r; dh xb njh d cjkcj gh mudh pkyk
dk vuikr Kkr djA

(a) 32:15 (b) 15:22

(¢) 7:4 (d) 42 :35
A dog takes 8 jumps for every 12 jumps of
the lion and a fox takes 15 jumps for every
12 jumps of the lion and the distance
covered by dog in 8 jumps, distance
covered by lion in 16 jumps and the

distance covered by fox in 24 jumps is
equal. Find ratio of their speeds.

[9]
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72.

73.

74.

,d dUkk ftruh nj e 8 Nykx yxkrk g mruh nj e
,d "kj 12 Nykx yxkrk g rfk ferun nj e "k 12
Nykx yxkrk g mruh nj e ,d ykeMh 15 Nykx
yxkri gh dlk Hjk 8 Nykx e r; dh xb nji] "k
gk 16 Nykx e r; dh xb njh rFk ykeMh Fjk

24 Nykx e r; dh xb njh cjkcj gh mudh phyk
dk vuikr Kkr dj\

(a) 8:12:15 (b) 6:8:5

(c) 8:6:5 (d 5:8:6

Two candles with same length light up at
same time first candle end in 8 hours and
2" end in 6 hours. Rate of burning is
different for both candles. After start of
burning after how much time ratio of their
length will be 3 : 1?
nk ekeclk ftudh leku yckb g mlg ,d Ik tyk;k
x;K gy ekeclkn 8 %AV e lekir gk xb rFk nljh
eleclih 6 %V e lekr gk xbt ;g ekur g, fd
it;d ekecllh vyx&vyx nj I tyrh gh tyu d
fdru nj ckn igyh rik nljh ekeclh dh yckb
dk vuikr 3 % 1 ghxk\

(a) 4 hr 40 min (b) 5 hr 40 min

(c) S hr 20 min (d) 5 hr
If a, b, c are 3 positive integers such that
a and b are in the ratio of 3 : 4 while b and
c are in the ratio 2: 1, then which one of
the following is a possible value of
(a+b+¢)?

;N a, b, ¢ 3 /uked T.4d t] tl fd a Vi

h 4 d wvuikr e g tcfd b Vij e, 241 d

vuikr e g] rk futufyf[kr e 1 du&lk "IHkfor
elug(a+b+c)?

(a) ¥201 (b) T 207

(c) ¥ 205 (d) ¥210
If the ratio of selected to unselected
candidates was 14 :25. If 35 less had
applied and 10 less selected, the ratio of
selected to unselected would have been
3:5. What is the Number of candidates
who have applied for a job?

;in p;fur dk vp;fur mEehnokjk 1 wvuikr 14 %25
Fikh ;fn 35 1 de u wvkonu fd;k gkrk wvkj 10
de p;fur gkr] rk p;fur 1 vp;fur dk vuikr
345 gkrid ukdjh d fy, wvkonu dju oky mEefinokjk
dh I[;k D;k g\

SSC MTS 2018

75.

76.

77.

(a) 200 (b) 275

(c) 175 (d) 195
In an examination, the success to failure
ratio was 5 : 2. Had the number of failures
been 14 more, then the success to failure
ratio would have been 9 : 5. The total
number of candidates who appeared for the
examination was:

,d 1ji{lk e] FiQyrk vkj vIiQyrk dk vuikr 5%2
e ofn vliQy VHzFG dh B[k 14 vi/Zd ghri]
rk LiQyrk vkj viiQyrk dk vuikr 9%5 gkrid
bl iji{ik e dy fdru VH:FO "Kfey g, F\

(a) 121 (b) 196

(c) 126 (d) 128
In an examination, the number of those who
passed and the number of those who failed
were in the ratio 25 : 4. If five more had
appeared and the number of failures was 2
less than earlier, the ratio of passers to

failures would have been 22:3. The number
who appeared at the examination, is:

,d ijigk €] mUhk gku okyk din B[k wkj wulk.k
gku okyk dhB[;k 25%4 d wvuilkr e Fi ;fn
ikp wAj mUkn.k gkr g wkj wvulki.k gku okyk d
I[;k Tgy di ryuk e 2 de R rk mUka.k |
wvulki.k gku oky fo]kfFk;k dk vuikr 22 %3 gkxk
1jh{k e mUki.k gku okyk dh I[;k g &

(a) 145 (b) 150

(c) 155 (d) 180
A person divides a certain amount among

his three sons in the ratio of 2 : 3 : 8. If
he had divided this amount in the ratio of

111
E g 8’ then the son getting the lowest

amount would have got ¥ 2200 more. What
is the total amount (in %) ?

,d 0;fDr ,d fuf"pr jki*k dk viuh riu ik e 2
h 3 %8 d vuikr e ckvrk gt ;fn mlu bl jki*k

dk 12 d vuikr e foHkftr fd;k gkrk] rk
2 3 8
Icl de jkf*k ikir dju oky i+ dk % 2]200 Vij
fey gkrh dy jkf*k (X e) D;k g\
SSC MTS 2018
(b) 6556

(d) 5940

(a) 5980
(c) 6578

[10]



https://t.me/mathsbyadityaranjan

(1@ 2@ 30| 42@| 5@/ 60)| 70| 8@| 90| 10@)
1.d) | 12.@) | 13.@)| 14.()| 15.c) | 16.c) | 17.c) | 18.(d)| 19.(c) | 20.(a)
21.(b) | 22.(b) | 23.(d)| 24.b)| 25.@) | 26.(c) | 27.(a) | 28.@)| 29.c) | 30.(b)
31.(b) | 32.(a) | 33.(d)| 34.(a)| 35.d)| 36.(a) | 37.b) | 38.a)| 39.d) | 40.(d)
41.(c) | 42(c) | 43.(a) | 44.(b)| 45.(c) | 46.(a) | 47.(a) | 48.(a)| 49.(b) | 50.(d)
51.0b) | 52.(d) | 53.b) | 54.c)| 55.(c) | 56.(b) | 57.(a) | 58.(b)| 59.(a) | 60.(c)
61.(c) | 62.(b) | 63.(a) | 64.(b)| 65.(b) | 66.(a) | 67.(c) | 68.(b)| 69.) | 70.(d)

\_7L©) | 72(0) | 73.(b) | 74.(d)| 75.9) | 76.(@a) | 77.(a) y

[11]



https://t.me/mathsdoubtgroupbyadityaranjan

	Blank Page

